*kkkkKk disequazione £(x) < 0

SOLVE(£f(x) < 0, x)

-8 < x < -2
graf := [£(x), SOLVE(f(x) < 0, x), SOLVE(f(x) = 0, x)]
X + 2
——————— , 8 <x< -2, x = -2
x + 8
[raggio := 10, passo := 0.5]
ascisse := [-raggio, -raggio + passo, ..., raggio]
punto(x) := [x, £(x)]
campionamento := VECTOR(punto(x), x, ascisse)
y 720
115
+18
lg +
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SOLVE(£f(x) = », x)

[£(-w), £(-8), £(w)]

[?, to, 2]

lim £(x), lim £(x), lim £(x), 1lim £(x), lim £(x)

X>—0 x->—8 X->— 8- x>—8+

X->0

[1’ t©, ©, —o, 1]
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dominio(y) := SOLVE(SOLVE(y < 0, x) v SOLVE(y > 0, x), x)

dominio(£(x))



